SN EXXED
By EXoIY EBHIELNANL/NALEA)
X

ol MEL - 32 HEE

(

e @ E)

A - m"-%(am) HEAE - BaS  olae Il o HRs
EX D 2,477,130 2,148,130 329,000
= 1,518,000 1,148,000 370,000
< 959, 130 1,000,130 A41,000
EX2S SSHBELNNANL/XNALEA) 2,434,256 2,105,256 329,000
= 1,518,000 1,148,000 370,000
[ 916,256 957,256 A41,000
MEA - B2 e85 2,022,183 2,063,183 A41,000
= 1,148,000 1,148,000 0
[ 874,183 915,183 A41,000
MZEA - B2 B3 ALY 567,912 608,912 241,000
= 75,000 75,000 0
[ 492,912 533,912 A41,000
201 Y2 A 115,000 139,000 24,000
01 ALRBE2IHI 4,000 8,000 24,000
OWIIY & U 242 4,000 8,000 24,000
02 2229 111,000 131,000 220,000
O=NBAXBESAAY RNES 51,000 61,000 210,000
OXEMAFH SXBS 60,000 70,000 10,000
207 S IHEHH| 290,000 300,000 210,000
= 75,000 75,000 0
= 215,000 295,000 £10,000
02 & &N | 140,000 150,000 £10,000
O BIHOIE & L AAE W 140,000 150,000 210,000
405 KHoHE S| 143,000 150,000 A7,000
01 AU SES S| 143,000 150,000 A7,000
OB YOOI Tt RE(MY S) 143,000 150,000 A7,000
K= TR AALE 370,000 0l 370,000
= 370,000 0 370,000
PNEPUEININI= BT 370,000 0 370,000
= 370,000 0 370,000
201 YBr2AH| 5,000 0 5,000
= 5,000 0 5,000
01 At Z2IY| 5,000 0 5,000
OXNFMMEA A B8 5,000 0 5,000
= 5,000 0 5,000
202 O Hl 2,400 -0 2,400
= 2,400 0 2,400
01 2LHOiHI 2,400 0 2,400
OXNETZAALY =X 2,400 0 2,400
= 2,400 0 2,400
308 XHXIEHH SOl A 362,600 0 362,600
= 362,600 0 362,600
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2N EXXE DY

Ha: EXB 5B (EAXNAMWL/NALEZAI)

Ha

Bl XIE T2 ALARE CEERED)
SO (s) - NBAR - BES | oo | JEo HRE

] 01 AXECHBLEES 362,600 0 362,600

OXRSH KNEIEA ALY 362,600 0 362,600

= 362,600 0 362,600
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